



सत्यमेव जयते GOVERNMENT OF MAHARASHTRA

आरोग्य विभाग

HEALTH DEPARTMENT

प्रमाणपत्र निर्गमित करणाऱ्या स्थानिक क्षेत्राचे नाव

Name of local body issuing certificates

जन्म प्रमाणपत्र

BIRTH CERTIFICATE

्जन्म व मृत्यु नोंदणी अधिनियम १९६९ च्या कलम १२/१७ आणि महाराष्ट्र जन्म आणि मृत्यु नोंदणी नियम,२००० चे नियम ८/१३ अन्वये देण्यात आले आहे.)

(Issued under section 12/17 of the Registration of Birth & Deaths Act, 1969 and Rule 8/13 of the Maharashtra Registration of Birth & Deaths Rules 2000)

प्रमाणित करण्यात येत आहे की खालील माहिती जन्माच्या मूळ अभिलेखाच्या नोंदवहितून घेण्यात आली आहे,जी की (स्थानिक क्षेत्र) **प्रिंदावण-बांदिवडे** तालुका:राजापूर जिल्हा:रत्नागिरी महाराष्ट्र राज्याच्या नोंदवहित उल्लेख आहे.

This is to certify that the following information has been taken from the original record of Birth which is the register for (local area/local body) **Prindavan-Bandiwade** of tahsil/bloc Rajapur of district Ratnagiri of Maharashtra state.

बाळाचे पूर्ण नाव: ओंकार सुरेश कोकाटे

Name of Child: Onkar Suresh Kokate

जन्म दिनांक : १९/०५/२००२

Date of Birth: 19/05/2002

आईचे पूर्ण नाव:- सुनंदा सुरेश कोकाटे

Name of Mother :Sunanda Suresh Kokate

बाळाचे जन्माचे वेळी आई वडिलांचा पत्ता:

मु.बांदिवडे पो.प्रिंदावण, ता.राजापूर,जि.रत्नागिरी

Address of parents at the time of birth

of the child :- At.Bandiwade,Po.Prindavan,

Tal, Rajapur, Dist Ratnagiri

नोंदणी क्रमांक : ०५

Registration No: 05

शेरा :

Remarks (if any):

प्राची प्रतिकार स्थान । Sea की

प्रमाणपत्र दिल्याचा दिनांक:-०३/०८/२०२१

Date of issue: 03/08/2021

प्रत्येक जन्म आणि मृत्यूची घटना नोंदल्याची खात्री करा."

लिंग : **पुरुष**

Sex:Male

जन्म ठिकाण : बांदिवडे

Place of Birth: Bandiwade

वडिलांचे पूर्ण नाव : सुरेश यशवंत कोकाटे

Name of Father: Suresh Yashawant Kokate

आई वडिलांचा कायमचा पत्ता:

मु.बांदिवडे पो.प्रिंदावण, ता.राजापूर,जि.रत्नागिरी

Permanent address of parents:

At.Bandiwade,Po.Prindavan,Tal,Rajapur

Dist.Ratnagiri

नोंदणी दिनांक : ०१/०६/२००२

Date of Registration :01/06/2002

निर्गमित करणाऱ्या प्राधिकाऱ्याची

सही

याधिक्र याची वृक्त मृत्यु विवाह निबंधक

गा प्रपिदावण - बादिवडे Address of the issuing authority ता राजापुर जि.रत्नागिरी

"Ensure Registration of every birth & death"





ISMAIL YUSUF COLLEGE



Student Id 2533279

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

DDOGDAMME	BACHELOR OF COM	IMERCE						SEMES	TER : I			
	/Reg. No.	Examination Seat No.		Name of the Learner					Month & Year of Examination			
2020016401186086 20FC 454		КОКА	TE ONKAR SURE	SH SUNANDA	. 8	REGULAR DECEMBER 2020						
Course			Course		Grade		Credits	Grade	CG=	SGPI=		
Code		Course Title	Credits	Credits TH/PR IA	TH/PR IA OVERALL		Earned (C)	Points (G)	CxG	ΣCG / ΣC		
UBCOMFSI.1	ACCOUNTANCY AN	D FINANCIAL MANAGEMENT - I	3.00	В		В	3.00	6	18.00			
UBCOMFSI.2	COMMERCE - I (BUS	SINESS DEVELOPMENT)	3.00	0		0	3.00	10	30.00	- 0		
UBCOMFSI.3	BUSINESS ECONON	AICS - I	3.00	A+		A+	3.00	9	27.00			
UBCOMFSI.4	BUSINESS COMMUI	NICATION - I	3.00	0		0	3.00	10	30.00	9.10		
UBCOMFSI.5	ENVIRONMENTAL S	TUDIES - I	3.00	A+		A+	3.00	9	27.00			
UBCOMFSI.6	MATHEMATICAL AN	D STATISTICAL TECHNIQUES - I	3.00	A+		0	3.00	10	30.00			
UBCOMFSI.7	FOUNDATION COUP	2.00	0	С	0	2.00	10	20.00				
Remarks : SUCCESSFUL			20.00		arned Cred	its : 20.00	ii		ΣCG= 182.00	SGPI= 9.10		
SEMESTER I SEMESTER II Credits Earned = 20.00 SGPI = 9.10 Credits Earned = SGPI = SEMESTER V SEMESTER VI				MESTER III = SGP	I = Credits E	SEMESTER IV arned =	SGPI =	Overall	Grade =	A +		



Credits Earned = ---

Place : Mumbai

Date: 15/02/2021

Checked By:

mythals

Chairperson, Exam. Committee

SGPI = ---



Seal of the College

Spearhal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

SGPI = --- Credits Earned = ---

(Refer to grade table at the back)



ISMAIL YUSUF COLLEGE

GRADE CARD





Student Id 2533279

							-		25.	332/9		
PROGRAMME	: BACHELOR OF CO	DMMERCE	· v · · · · · · · · · · · · · · · · · ·					SEMES	TER: II			
PRN/Reg. No. Examination Seat No. 2020016401186086 20FC 454			Name of the Learner KOKATE ONKAR SURESH SUNANDA					Month & Year of Examination				
		КОКАТ						REGULAR APRIL 2021				
Course	e in the second			Grade		Credits	Grade	CG=	SGPI=			
Code	Course Title		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /		
UBCOMFSII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - II	3.00	B+		B+	3.00	7	21.00			
UBCOMFSII.2	COMMERCE - II (BUSINESS DEVELOPMENT)		3.00	D		D	3.00	4	12.00			
UBCOMFSII.3	BUSINESS COMM	UNICATION - II	3.00	B+		B+	3.00	7	21.00			
UBCOMFSII.4	BUSINESS ECONO	OMICS - II	3.00	0		0	3.00	10	30.00	7.25		
UBCOMFSII.5	ENVIRONMENTAL STUDIES - II MATHEMATICAL AND STATISTICAL TECHNIQUES - II		3.00	С		С	3.00	5	15.00	7.20		
UBCOMFSII.6			3.00	0		0	3.00	10	30.00			
UBCOMFSII.7	FOUNDATION COL	JRSE - II	2.00	. А	B+	A	2.00	8	16.00			
Remarks : SUCCESSFUL			20.00	E	arned Cred	its : 20.00			ΣCG= 145.00	SGPI= 7.25		

SEMESTER III

SGPI = ---



Credits Earned = 20.00

Credits Earned = ---

SEMESTER I

SEMESTER V

Place : Mumbai

Date: 29/04/2021



SEMESTER II

SEMESTER VI

SGPI = 7.25

SGPI = ---

mythate

Credits Earned = ---

Chairperson, Exam. Committee



SGPI = --

Seal of the College

SEMESTER IV

Credits Earned = ---

Streamhal

Overall Grade = B+

Principal

SGPI = 9.10 Credits Earned = 20.00

Credits Earned = ---

SGPI = ---



ISMAIL YUSUF COLLEGE



Student Id

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

2533279 **PROGRAMME: BACHELOR OF COMMERCE SEMESTER: III** PRN/Reg. No. **Examination Seat No.** Name of the Learner Month & Year of Examination **KOKATE ONKAR SURESH SUNANDA** 21SC 108 2020016401186086 **REGULAR OCTOBER 2021** Credits Grade SGPI= Grade CG= Course Course **Points** ΣCG / Earned **Course Title** CxG Credits Code TH/PR TΔ OVERALL

			III/PK	1A	OVERALL	(C)	(G)		20
UBCOMSSIII.1	ACCOUNTANCY AND FINANCIAL MANAGEMENT - III	3.00	A +		A+	3.00	9	27.00	
UBCOMSSIII.2	FINANCIAL ACCOUNTING & AUDITING -I	3.00	Α		А	3.00	8	24.00	
UBCOMSSIII.3	COMMERCE - III	3.00	Α		А	3.00	8	24.00	
UBCOMSSIII.4	BUSINESS ECONOMICS - III	3.00	A +		A+	3.00	9	27.00	8.90
UBCOMSSIII.5	BUSINESS LAW - III	3.00	О		0	3.00	10	30.00	Ð
UBCOMSSIII.6	ADVERTISING	3.00	O		0	3.00	10	30.00	
UBCOMSSIII.7	FOUNDATION COURSE - III	2.00	Α	Α	Α	2.00	8	16.00	= 2
Remarks : SUCCESSFUL		20.00	E	arned Cred	its : 20.00			ΣCG= 178.00	SGPI= 8.90

SEMESTER I		SEMESTER II		SE	MESTER III	E. E.	SEMESTER IV		4	
Credits Earned = 20.00	SGPI = 9.10	Credits Earned = 20.00	SGPI = 7.25	Credits Earned	= 20.00 S	GPI = 8.90	Credits Earned =	SGPI =	Overall Grade = A	
SEMESTER V		SEMESTER VI	th 12 Mar		8 p.8	PIN		II. (i	Overall Grade = A	
Credits Earned =	SGPI =	Credits Earned =	SGPI =			_		_ **		

Place : Mumbai

Date: 25/11/2021

Checked By:

Chairperson, Exam. Committee



Seal of the College

Sourcehal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



ISMAIL YUSUF COLLEGE



Student Id 2533279

(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

PROGRAMME : BACHELOR OF COMMERCE								SEMES	TER: IV				
PRN/Reg. No. Examination Seat No.				Name of the Learner					Month & Year of Examination				
202001	6401186086	21SC 108	KOKATE ONKAR SURESH SUNANDA					REGULAR MARCH / APRIL 2022					
Course			Course		Grade		Credits	Grade	CG=	SGPI=			
Code		Course Title		TH/PR	IA	OVERALL	Earned (C)	Points (G)	C×G	ΣCG / ΣC			
UBCOMSSIV.1	ACCOUNTANCY AN	ID FINANCIAL MANAGEMENT - IV	3.00	В+		B+	3.00	7	21.00				

Course		Course		Grade		Earned	Points	CG=	ΣCG /
Code	Course Title	Credits	TH/PR	IA.	OVERALL	(C)	(G)	CxG	ΣC
UBCOMSSIV.1	ACCOUNTANCY AND FINANCIAL MANAGEMENT - IV	3.00	B+		B+	3.00	7	21.00	
UBCOMFSIV.2	FINANCIAL ACCOUNTING & AUDITING-II	3.00	0	1/\4-	0	3.00	10	30.00	
UBCOMFSIV.3	COMMERCE-IV I	3.00	0		0	3.00	10	30.00	
UBCOMFSIV.4	BUSINESS ECONOMICS - IV	3.00	B+	/	B÷₅	3.00	7	21.00	8.85
UBCOMFSIV.5	BUSINESS LAW - II	3.00	A+		A+	3.00	9	27.00	
UBCOMFSIV.6	ADVERTISING- II	3.00	0	1/3/7	0	3.00	10	30.00	
UBCOMFSIV.7	FOUNDATION COURSE - IV	2.00	0	A	A+	2.00	9	18.00	
Remarks : SUCCESSFUL		20.00		Credits Ear	ned : 20.00			ΣCG= 177.00	SGPI= 8.85

SEMESTER I SEMESTER II SEMESTER III **SEMESTER IV** Overall Grade = A Credits Earned = 20.00 SGPI = 9.10 Credits Earned = 20.00 SGPI = 7.25 Credits Earned = 20.00 SGPI = 8.90 Credits Earned = 20.00 **SGPI = 8.85**



Place: Mumbai Date: 25/04/2022

Checked By:

Chairperson, Exam. Committee



Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



Name

Government of Maharashtra's

ISMAIL YUSUF COLLEGE
JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

DEGREE COLLEGE

Rec. No. : B25/DEGREE COLLEGE/BA/2022-2023/881 Class BCOM 5 SEMESTER

Category : 01

: ONKAR SURESH KOKATE

Section :NA

> Date: 18/06/2022 Student Id.: 2533279 Fee Type: RESERVED Roll No: 215C108

OFFICE COPY

	Roll No : 21SC108
Received the following	(₹)Amount
ADMISSION PROCESSING FEES	200.00
IDENTITY CARD AND LIBRARY CARD FEES	50.00
GROUP INSURANCE FEES	20.00
VICE-CHANCELLOR'S FUND	20.00
E-CHARGES	20.00
E-SUVIDHA	50.00
ALUMNI ASSOCIATION CHARGES	25.00
DISASTER RELIEF FUND	10.00
Total:	₹ 395.00

In words: THREE HUNDRED NINETY FIVE RUPEES ONLY. Med: ENG, Subject: UBCOMTSV.1, UBCOMTSV.2, UBCOMTSV.4, UBCOMTSV.5, UBCOMTSV.6, UBCOMTSV.8

Bank: 395.00

Remarks :NA BA-25-SUPPORT-18/06/2022

SUPPORT

RECEIVER'S SIGNATURE Page 1 of 1



Rec. No.

ISMAIL YUSUF COLLEGE JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

DEGREE COLLEGE

: B25/DEGREE COLLEGE/BA/2022-2023/881

: BCOM 5 SEMESTER Class Category

: ONKAR SURESH KOKATE Name : 742 Adm. No.

:NA

STUDENT COPY

Date: 18/06/2022 Student Id.: 2533279 Fee Type : RESERVED

	Roll No : 21SC108
Received the following	(₹)Amount
ADMISSION PROCESSING FEES	200.00
IDENTITY CARD AND LIBRARY CARD FEES	50.00
GROUP INSURANCE FEES	20.00
VICE-CHANCELLOR'S FUND	20.00
E-CHARGES	20.00
E-SUVIDHA	50.00
ALUMNI ASSOCIATION CHARGES	25.00
DISASTER RELIEF FUND	10.00
Total:	₹ 395.00

In words: THREE HUNDRED NINETY FIVE RUPEES ONLY.
Med: ENG, Subject: UBCOMTSV.1, UBCOMTSV.2, UBCOMTSV.4, UBCOMTSV.5, UBCOMTSV.6, UBCOMTSV.8

Bank: 395.00

BA-25-SUPPORT-18/06/2022 SUPPORT RECEIVER'S SIGNATURE

Page 1 of 1







PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 16-Sep-2022

e-Receipt for State Bank Collect Payment

SBCollect F	Reference Number	DUJ7187936	
Category		BONAFIED NOC AND T C FEES	
FIRST NAM	E	ONKAR	
MIDDLE NA	ME	SURESH	
LAST NAME		KOKATE	
DATE OF B	IRTH	19/5/2002	**
GENDER		MALE	
CATEGORY		OBC	
MOBILE NO)	9404764047	
COURSE		В СОМ	
BONAFIED FEES	FEES, NOC FEES, T C	20	
Transaction	charge	0.00	
Total Amou	nt (In Figures)	20.00	
Total Amou	nt (In Words)	Rupees Twenty Only	
Remarks		BONAFIED FEE	
Notification	1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100	
Notification	2	PRINT COPY AND SUBMIT TO COLLEGE	

